111 EAREIEZ 2 APCS EBXERE TR G -EMa T

= e

5% B S INBLRE 7
1 HEES 610 FOF
2 = IST 600 MOTE
3 HESE 592 ZOR
4 HESE 586 MOZR
5 HEES 578 BFOJRE
6 HEES 562 21O#
7 HEEF 560 BROGE
8 HEES 552 SIOE
9 RS F 551 O
10 HEES 531 BROR
11 HEES 525 O
12 HEES 521 =0
13 HEES 518 5RO
14 HEES 516 %O&E
15 HEES 507 HOE
16 e T 482 HOH
17 HES ¥ 474 =05
18 HEESF 459 #=#O7%
19 HEES 454 EOIE
20 HEES 453 HO1A
21 RS F 452 FOH
22 HES ¥ 450 Z&O%
23 HEES 445 O BF
24 HEESF 438 20k

20220629



DgiEre
111 BARSIE 2 2 APCS ERXAERE TR L -B RS T

o =¥ 5% 2 INELRTE HH

1

RS 605 MOEF
2 o

RS 603 T O&
3 o

RS 599 FEOBE
4 o

RS 589 BEOZ
5 o

RS 537 MO #E
6 o e

ZERST 532 E2OK
7 o

RS 529 MOE
8 o e

ERSH 517 =0OR
9 o

ZERST 465 ROE
10 N y

RS 412 FEOF

20220629



l!;;;’E;§x§§;§?E%§
111 #iIB 2 2 APCS ERERETAHR B -HHEL T

FiE 22¥ 59 ZINELRTE HH

1

BEY 611 MmOIE
2 e .

sl 607 1@)
3 o ~

BElGY T 591 F O
4 Y N

s 579 BFO=
5 e 77

sl 575 #BOR
6 L.

sl 559 FROAZ
7 e

BEREeH 550 FOE
8 L.

sl 549 R OBF
9 Y .

5l 546 RO
10 . e

5l 538 =0k
11 N .

sl 527 HOE

20220629



111 ARSI 2 B APCS ERXAERE T Z-BR S L

= e

FiE R ZINELRTE HH
1
RS L 604 ENOL]
2 . N
ZEERS L 598 BEO#)
3 L
ZEERS L 597 HOR
4 L u
ZEERS L 596 RO
5 N .
ZEERS L 593 S TOHEF
6 L e
ZEERS L 585 OB
7 L
ZEERS L 584 EJQYiS
8 L
ZEERS L 582 o=
9 L
ZEERS L 581 T O
10 N e
ERS L 580 HRO®R
11 L
RS L 571 MOZ
12 L N
ERg T 568 =08
13 N
ERSE 567 20%
14 L
ERSD 557 EJQk)
15 N
RS L 556 HOE
16 N . §
ERg T 544 EOE
17 e\ ma .
RINEERES 535 FOlg

20220629



#FOME

fifa
i

533

440

18

19

20220629



111 HARG 1B = 2 APCS AR A STk & - ERE T

= s

ik 2R SINERS e
1 HEET 619 FO%
2 HEdET 618 E40)
3 AR 612 =0%
4 HEET 609 HO3H
5 BB 608 Ok
6 HH =T 601 FOR
7 HEdET 595 FOf%
8 HE T 594 MO
9 HEET 587 BBO&F
10 L 576 =top=
11 HH =T 572 O
12 E 566 FEO#
13 H R cea F0%
14 E 563 HOF
15 HE T 561 HOF
16 HH =T 558 20N
17 H & 548 FORK

20220629



18 B Bl 547 O
19 H = 543 BROBT
20 EHRE c41 BOH
21 R 536 RO
22 A [T 528 O
23 LEESE 526 OB
24 A - O
25 E 523 HOE
26 B Bl 59 HOF
27 Bl 2 520 BO&
28 = 476 2O
29 HH =T 464 205%
30 HH =T 430 RO
31 A= 419 RO

20220629



111 HARG 1B = 2 APCS &R E ST R B - EF I

= e

Fro%

B

SINE 4RI

e

1

[}
ks
il
+H

615

FO0&

[}
ks
il
+H

613

E @)

fm
i
il
+H

590

MO

fm
i
il
+H

588

[}
ks
il
+H

577

[}
ks
il
+H

574

[}
ks
il
o

565

20220629



